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Note : There (7 le three sections and all are compulsory. 

SECTION - A 

1. 	Fill in the blanks with appropriate word (s) given 

in brackets : 	 5x1=5 

The sum of absolute deviations (deviations 

ignoring signs) measured from 

is the least. (Mode/Median) 

(b) The data collected from a report published 

in the Economic Times is an example of 
C:) 

data. (primary/secondary) 
CO (c) The goals scored by a football team is an 
CC) 

example of 	variable. (discrete/ 
continuous) 

(d) Squares are an example of 

dimensional diagram. (one/two) 

(e) In a symmetrical distribution; the skewness 

is always equal to  	. (zero/one) 

(a) 
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State whether the statements given below are 

True or False. 	 5x1=5 

(a) The study of only a part of population is 

called sample. 

(h) The smallest and the largest possible 

measurements in each class is called the 

class limits. 

(c) Negative values cannot be represented in a 

histogram. 

(d) The data should be arranged either in 

ascending or descending order before 

computing the median. 

(e) The variance and co - efficient of variation 

mean the same thing. 
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SECTION - B 

Attempt any two of the following : 

3. (a) Draw a "less than" cumulative frequency 

distribution from the following data : 	10+5 

Marks 0-10 10-20 20-30 30-40 40-50 50-60 60-70 

No. of 

students 
10 18 26 42 40 16 6 

(b) Explain the process of constructing a 

histogram. 

4. (a) Find the value of Mode for the following 

frequency distribution : 	 10+5 

Central 

sizes 
1 2 3 ! 	4 5 6 7 8 9 10 

Frequencies 8 6 10 12 	20 12 5 3 2 4 

(b) Using the empirical relationship between 

mean, median and mode, estimate the 

median value of a distribution whose mode 

and mean are 32.1 and 35.4 respectively. 

5. (a) 	Calculate the standard deviation and 

co-efficient of variation for the following 

data : 	 10+5 

[ Class! 0-4 8-12 12-16 

f 4 8 	1 	2 I 	- 1 
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(b) For a given data, Mode =47.07, X —47.83 

and standard deviation =14.8. 

Determine Karl Pearson's co-efficient of 

Skewness. 

6. 	(a) Distinguish between simple and complex 10+5 

statistical tables and give their examples. 

(b) Write a note on Pie diagram. 
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SECTION - C 

7. 	Distinguish between any two of the following : 	5+5 
(a) Univariate and Bivariate Frequency 

Distribution 

(b) Exclusive and Inclusive Class Intervals 

(c) Less than and More than Ogives 

(d) Reasonable Accuracy and Spurious 

Accuracy 
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5x1 =5 

wrzi-TIT 

, iri 	larr 

11, 2013 

IcI iiid,t4chT1 : ciirukrq 

1.7:ft.311. - 7: t-1 instichi 	cIc 

71-147 

 

:2 .E.Tu 	 3-TRI 	3-7W : 50 

(7' GhI 70% 

	: 7:Tiirt71 	ff2,11-  TP.73.  aifT-api 

egus - 31 

1. 	*ita** -4" 	7F--f 4 A --crzji vr .qR1 	T'2.T1-41 

Tr4 4;1 	rsTR 

(a) 	 

1f 	t)  

( 9-IN6a-T/ 

(b) (=f-iff'41,-*) zrtf4-4 	ichtm-r 	fTcr)- 	fc-N 

t 

( -g-r24Thon/f-g--4-srzf- ) 

(c) KT; -1-,011c1 ciT fJfci-) 'R 	,qft'>of 

	 *I I (4r3- 13T4ftTl) 

qrf (Squares) 1 	I1T1 t 

fdfr4N 31k1 I (i/f ) g 

chH 

(d) 
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(e) 	TT; 7,11:IfiTA rctcft-gl 	4urTzt #71-1-  

	 t i ( 

2. 	 r-ii-irciPAct 	 Trft 	-T. 

TIT 	? 	 5x1=5 

(a) 	 ITFT chi 3P-717N -51-r---0 

(sample) chcv1Icil 	I 

(h) 1R4-  qif 	 #1.1-4 -T-E4 

cb) ci -thTur'   t I 

(c) --11110-10h ly4f chi 	frcrT c4111(-111 

(histogram) 14 'Ief f*-7{T sq1 -I=t)c-II I 

(d) P-1-41 

31---q4et 94,4-1 	Tu91 3-11cRich t I 

(e) 1,1- 1713T (variance) .2.1T fd-qt-TITTIfT (co-efficient 

of variation) *I 7T t 312i 	 I 
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gu8 - 

F-1Frirocr 	fwttw4it 

3. (a) 	F-1 4-1 Rd d 	 ch4-1' 74-qTft ,3-TFeff -4-z-9-  10+5 

-?3rR 

34.--  0-10 10-20 20-30 30-40 40-50 50-60 60-70 

10 18 26 42 40 16 6 
fqnNt 

--1 d& w1 

(b) 	Bch 3117rd Rol (histogram) -q7T4 ti-;) VFW-4T 4;1 

oqftsif 

4. (a) 	14-10 Oci 3-1* 	t Fri 	 4-11-T 10+5 

.11c1 	: 

11124 111 1 2 3 4 5 6 7 8 9 10 

31719 8 6 10 12 20 12 5 3 2 4 

(b) T-11t74, 	1.04 	3-TTTITTfqt 

44.ET t 311 R ITT 1, 	f--Trk- 1.-LfzrvT .a2TE 

T-Trtzr a-7 1-11-1 9114-RI: 32.1 -2r135.4 t ch1 HAzr- r 

4-11-1 

5. (a) 	F-14--i 	oci 	3-11ITTT IR Hl lch rol -c101 -d2TT 10+5 

f-d-TuT -117TfT chl 41 (ill( i 	: 

ci 	4f 0-4 4-8 8-12 12-16 

f 4 8 2 1 
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(b) -TT  

X =47.83 2.TT 	rctc10-1 =14.8 t 

ftzR±i chE kciP4 Thrrh*- t 71Ici 

6. 	(a) 	721T ,1-1R.c-i -11f4Achlq tliturtiff 	TEITz 10+5 

-WTr-ATT, 

(b) 	aii-Pj (Pie diagram) Lit 7T lu-1011 11- fr-47 I 

10 



(ju,s  - 
7. 	f9T-TRF-iftiff 	 -14 

(a) -7,T-1,17-i 	ft--q-fM 3TrIfff 

(b) 'ffq-1 -14-11(.4 

(c) A.  q;1={ 'ff2.TT 	thTif (Ogives) 

(d) -3:11Fftff tff2-TT F4-127fT "TR71-4-d7 

5+5 
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